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Disquazioni logaritmiche

82. logy, (X*+2x+1) <2

X2 +2x+1>0 Xz -1 5 3

= = X<—-— 0O x>——

x2+2x+1>i x<—E 0 x>—§ 4 4
16 4 4

83. log(x*-1) - log(x* -7x+12) < log4
log (x* —1) < log (x* - 7x +12) + log4
log (x* —1) < log 4 (x> - 7x +12)

x*=-1>0 x<-10 x>1
x> -7x+12>0 = x<3 0 x>4 =
2 _ 2 _
X° —1<4x° - 28x + 48 X<Z 0 x>7
3
7
x<-1[0O 1<x<§ O x>7
5
84. 2Iogx—1>|og(x—§j
5
2Iogx>1+|og[x—5j
2 5
log x >IoglO(x—§j
x>0 x>0
x—§>0 = x>E = x>§ O x#5
2 2 2
x? >10x — 25 X%£5

85. log(5-x)+log(25+5x+ x*) < 3log (5-x)
log (5- x) (25+5x + x*) < log (5 - x)*
log (125 - x®) < log (125 — 75x + 15 x* - x*)

5-x>0 Xx<5
25+5x + x> >0 = Ox = x<0
125 - x* <125 - 75x + 15 x*> - xX° x<0 OO x>5
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86. 4Iog§+3|og§ > 5logx —logl2

4Iog§+3|og§ - 5logx +logl2 > 0

x* X3 X
log12 | — O— : x> |>0 = log— > logl
16 27 36
x>0 x>0
NG = X>6
—>1 X<-6 0O x>6
36
o7, 9% (i—x)—l >1
log, (X —=7) — 2
Iogs(l—x)—l—logs(x2—7)+2>0
log, (xX* =7) — 2
1-x>0 x<1
ca. = = X< =47
{x2—7>0 {x<—\/_7 0 x>ﬁ \/_
N >0: log, (1-x)+1>log, (x> - 7)
3-3x>x*-7 = x*+3x-10<0 = -5<x<2
D>0:log, (X¥*-7)>2 = xX*-7>9 = x<-40 x>4
-5<x<-4 [0 2<x<4 = 4
- -5<x<-
x<-7
88. i>0
1-log, x
ca: x>0 N>0:1-2>0 = 2<1 = x<0

D>0:1-log, x>0 = log,x<1 = x<2

x>0
= X>2
{x<0 0 x>2

89. logx log(x-5) >0
|l F>0:logx>0 = x>1
Il F>0:log(x-5)>0 = x-5>1 = X>6
x<1l 0O x>6

x>0 = X>6
Xx-5>0
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9. log(x*—-7) < 2log(x+3)
log (x* —7) < log (x + 3)?

X2 -7>0 x<-7 0x>7

X+3>0 = (Xx>-3 = —§<x<—ﬁDx> 7

X* =7<x* +6x+9 x> 8
3
91. log, [log, (x+3)] >0
log, [log, (x+3)] > log, 1
log, (x+3) >1
log, (x+3) > log, 2
X+3>2 = x>-1
Xx+3>0 X>-3
log, (x+3)>0 = X>-2 = x>-1
x>-1 x>-1
2. log(x+3)+log(x-7)-log(1-2x)=0
log (x+3)(x-7) = log (1-2x)
X+3>0 X>-3
X=7>0 x> 1
1-2x>0 = Ix<l =
2 _ gy — -
XZ=4x-2121-2x W2 — 2% — 2230

X>-3

X>7

x<£ = imp.
x<1-.23 0 x=21+.23

93. log(x+2)>1

X+2>0 X>-=2
= = X>8
X+2>10 X>8



